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Ex 1.

Suppose that IT; : 2 +y + 2z =1and [Ty : z — y + 2z = 2 are two planes in R3.

(a) Show that the intersection of II; and II5 is a straight line and find a parametric equation of that line.

(b) Find the equation(s) of the plane(s) containing all the points which are equidistant from IT; and IIs.
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Ex2|

In the following diagram, a circular disk of radius 1 in the plane xy rolls without slipping along the z-axis and

the curve is the locus of a fixed point on the circumference which is called a cycloid.

(a) Give a parametrization of the cycloid.

(b) Find the arc length of the cycloid corresponding to a complete rotation of the disk.
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